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Partl Writing (30 minutes)
B REEEEE 1 . .

Part i Reading Comprehension (Skimming and Scanning) (15 minutes)
Directions: In this part, you will have 15 ntinutes to go over the passage quickly and answer the
questions on Answer Sheet 1. For questions 1-7, choose the best answer from the four choices
marked [A], [B], [C] and [D]. For questions 8-10, complete the sentences with the information .
given in the passage.

Paper——Meore than Meets the Eye
Wearesmmundcdbywmuchpaperandcudthatuxseasytoforgetjusthowcomplex1txs
There arc many varieties and grades of paper materials, and whilst it is fairly easy to spot the
varijeties, it is far more difficult to spot the grades.

. It needs to be understood that most paper and card is manufactured for a specific purpose, so
that whilst the corn-flake packet may look smart, it is clearly not something destined for the
archives. It is made to look good, but only needs a limited life span. It is also much cheaper to
manufacture than high grade card.

Papercanbenmdcﬁ'omanalmostendlessvanetyofcellulose-basedmtenalwmchwm
include many woods, cottons and grasses or which papyrus is an example and from where we get
the word “paper’”’. Many of these are very specialized, but the preponderance of paper making has
been from soft wood and cotton or rags, with the bulk being wood-based.

PaperfromWood

s hxordetﬁomkzwoodxﬁapapernneedswbebmkendownmﬁnesmds Fxtsdyby
powerful machinery and then boiled with strong alkalis such as caustic soda, uatil a fine pulp of
cellulose fibers is produced. It is from this pulp that the final product is made, relying on the
bonding together of the cellulose into layers. That, in a very small nutshell, is the essence of paper
making from wood. However, the reality is rather more complicated. In order to give us our white
paper and card, themakerswxﬂaddbbwhaadoﬂ:ermatenalsmhaschmaclayandaddmm
chemicals.

A further problem with wood is that it contains a material that is not cellulose. Something
called lignin. This is essential for the tree since it holds the cellulose fibers together, but if it is
incorporated into the manufactured paper it presents archivists with a problem. Lignin eventually
breaks down and releases acid products into the paper. This will weaken the boad between the
cellulose fibers and the paper will become brittle and look rather brown and careworn. We have all
seen this in old newspapers and cheap paperback books. It has been estimated that most paper back
books will have a life of not greater than fifty years. Not what we need for our archives.



Since the lignin can be removed from the paper pulp during manufacture, the obvious
question is “why is it left in the paper?” The answer lies in the fact that lignin makes up a
considerable part of the tree. By leaving the lignin in the pulp a papermaker can increase his paper
yield from a tree to some 95%. Removing it means a yield of only 35%. It is clearly uneconomic to
remove the lignin for paper and card applications.

It also means, of course, that lignin-free paper is going to be more expensive, but that is
nevertheless what the archivist must look for in his supplies. There is no point whatsoever in
carefully placing our valuable artifacts in paper or card that is going to hasten their demise. Acid is
particularly harmful to photographic materials, causing them to fade and in some cases simply
vanish!

So, how do we tell a piece of suitable paper or card from ‘one that is unsuitable? You cannot
do it by simply looking, and rather disappointingly, you cannot.always rely on the. label.
“Acid-free” might be true inasmuch as a test on the paper may indicate that it is a neutral material
at this time. But lignin can take years before it starts the inevitable process of breaking down, and
in the right conditions it will speed up enormously.

Added to this, as I have indicated earlier, paper may also contain other materials added during
manufacture such as bleach, china clay, chemical whiteners and size. This looks like a bleak picture,
and it would be but for the fact that there are suppliers who will guarantee the material that they
sell. If you want to be absolutely sure that you are storing in, or printing on, the correct material
then this is probably the only way. ,

Incidentally, acids can migrate from material to material. Lining old shoe boxes with good
quality acid-free paper will do little to guard the contents. The acid will get there in the end.

Paper from Rag

Paper is also commonly made from cotton and rag waste. This has the advantage of being
lignin-free, but because there is much less cotton and rag than trees, it also tends to be much more
expensive than wood pulp paper. You will still need to purchase from a reliable source though,
since even rag paper and card can contain undesirable additives.

A reliable source for quality rag papers is a recognized art stockiest. Many water color artists
insist on using only fine quality rag paper and board. '

The main lesson to léarn from this irfformation is that you cannot rely on purchasing archival
materials from the high street. The only safe solution is to purchase from specialist suppliers. It
may cost rather more, but in the end you will know that your important and valuable data and
images have the best home possible.

ERE: WHMAEHEESER 1 LR, 8-10 BESEFR1 .

1. The corn-flake packet is cheaper than

A) high grade card B) middle grade card
C) low grade card ' D) any grade card

2. There are a lot of materials which can be used for making paper, but the superiority ones are
A) woods, cottons and grasses B) soft wood and cotton

C) soft wood, cotton and rags D) cottons and grasses



During the whole manufacturing process, the final product is made from, .

A) strong alkalis B) caustic soda

C) cellulose fibers D) a pulp of cellulose fibers
. Inordertomakewhxtepaperandcard,themakerswﬂladd

A) Albescent - B) bleach

C) Escharotics D) lysozyme
. is essential for the tree but it will make paper easy to break.

A) Acid B) Alkali

C) Cellulose fibers D) Lignin

Many paper producers will preserve lignin during manufacture, because __ .
A) leaving the lignin will decrease his paper yield
B) leaving the lignin will make more paper from a tree
C) lignin is very useful in the process
D) lignin is essential for making paper
is particularly harmful to photographic materials. .
A) Lignin B) Bleach
C) Acid D) Chemical whiteners
We distinguish a piece of suitable paper from one that is unsuitable by
than the label.

rather

Although free of lignin, paper made from cotton and rag waste can also cost more money than

wood pulp paper because

10. What we can learn from “Paper from Rag” is that you had better buy archival materials

Part lll Listening Comprehension (35 minutes)

Section A
Directions: In this section, you will hear 8 short conversations and 2 long conversations. At the
end of each conversation, one or more questions will be asked about what was said. Both the
conversation and the questions will be spoken only once. After each question there will be a pause.
During the pause, you must read the four choices marked A), B), C) and D), and decide which is
the best answer. Then mark the corresponding letter on Answer Sheet 2 with a single line through
the center.

EE: WA REHESEE 2 LFE.

11. A) 4 dollars. B) 18 dollars. C) 16 dollars. D) 20 dollars.
12. A) In a Tokyo hotel. B) On a train. O) Atanairport. D) At an agency.
13. A) Finance B) Economics.

C) English. D) French.
14. A) It’s fashionable. " B) He has already got one.

C) It doesn’t appeal to him, D) There is no more left.
15. A) Manager and staff. B) Teacher and Student.

C) Job advisor and Student. D) Clerk and Customer.



16. A) The man will get refund for the music course.

B) The man will get a bill with the price of the course.

C) The man will pay for the tennis course by check.

D) The man will pay more for the tennis course. -
17.A) Have a dinner with Tom. 1 B) Meet Tom at a restaurant.

C) Finish his assignment. . D) Work on an essay in a restaurant.
18. A) The present apartment is expensive.

B) The woman wants to move into 2 new apartment.

C) The woman can’t put up with the noise.

D) The surrounding is noisy in her previous apartment.
Questions 19 to 22 are based on the conversation you have just heard.

19. A) Food nutrition. - B) The weather.
C) Americans’ obesity. D) Fitness craze.in the U.S.
20. A) Fat, oil and meat. B) Oil, junk food and sugar.
C) Sugar, meat and junk food. D) Sugar, fat and oil.
21. A) To visit hot places. B) To get more paid. -
C) To go outdoors. » D) Go on a diet and get some exercise.
22. A) Fourteen hours. . B) Six hours.
C) Five hours. D) Four hours.
Questions 23 to 25 are based on the conversation you have just heard.
23. A) At a bank. . : B) At a hotel.
C) At Wal-mart. . D) At a construction company.
24. A) Quite a few. B) Thirty-five to forty. '
C) Not yet decided. D) More than a hundred.
25. A) In March. B) In June.
C) In January. D) In February
Section B

Directions: In this section, you will hear 3 short passages. At the end of each passage, you will
hear some questions. Both the passage and the questions will be spoken only once. After you hear a
question, you must choose the best answer from the four choices marked A), B), C) and D). Then
mark the corresponding letter on. Answer Sheet 2 with a single line through the center.

WA A BRI 2 A,

Passage One
Questions 26 to 28 are based on the passage you have just heard.
26. A) No interest, . B) Cold winter. C) Sports. D) Low attendance.
27. A) Because balls could be kicked.
B) Because balls could be hit.
C) Because ball games were very popular.
D) Because ball games were new.
28. A) Thirteen B) Twelve. - C) Seven. D) Thuw



Passage Two
thxom”tonareh-sedenmemmhwmm
29. A) He will get tips if he does so. -
B) His customers are sleeping at that time.
C) The newspapers will be sheltered from rain.
D) His customers usually have breakfast on the porch.
30. A) He is sawing up to go to college.
B) He is saving up to travel to Europe.
C) He is saving up for a new bike.
D) He is unable to get pocket money from his parents
31. A) The newspapers are delivered to Billy’s house by truck at midnight.
B) Billy delivers newspapers every day except on Sundays.
C) Billy’s customers are so satisfied that they give him tips each time.
D) Billy is a responsible newspaper boy.

Passage Three :
Mnsszmﬁmbnsedmmemsgeyuhmmsthmr&.
32. A) The author of Harry Potter. B) The publisher of Harry Potter.

C) A character in Harry Potter, - D) An actor in the movie Harry Potter.
33. A) Children. B) People of all ages.

©) Young people. D) Preschoolers.

34. A) The stories are interesting and imaginative.
B) The main character is a normal boy, which enables children tozmagmebemghkchm.
C) The publisher has promoted the books all over the world.
D) There have been few other fantasy series for young readers.
35. A) The secret of success of Harry Potter. B) How the author wrote Harry Potter.
C) What Harry Potter is mainly about. D) The main characters of Harry Potter.

Section C

Directions: In this section, you will hear a passage three times. When the passage is read for the
first time, you should listen carefully for its general idea. When the passage is read for the second
time, you are required to fill in the blanks numbered from 36 to 43 with the exact words you have
Jjust heard. For blanks numbered from 44 to 46 you're required to fill in the missing information.
For these blanks, you can either use the exact words you have just heard or write down the main
points in your own words. Finally, when the passage is read for the third time, you should check
what you have written. ,

HER: WHMRAEELER 2 b, WESEE 2 HE%,

Part IV Reading Comprehension (Reading in Depth) (25 mmmu)
Section A

Divections: In this section, there is a passage wuh ten blanks. You are reguired to select. one word
Jor each blank from a list of choices given in a word bank following the passage. Read the passage
through carefully before making your choices. Each choice in the bank is identified by a letter:

-5-



Please mark the corresponding letter for each item on Answer Sheet 2 with a single lirie through
the center. You may not use any of the words in the bank more than once. .

Questions 47 to 56 are based on the following passage.

As a physician who travels quite a lot, I spend a lot of time on planes listening for that dreaded
“Is there a doctor on board?” announcement. I’ ve been (47) ~__only once—for a woman who
had merely fainted. But the (48) made me quite curious about how often this kind of thing
happened. 1 wondered what I would do if (49) .  with a real midair medical
emergency—without access to a hospital staff and the usual emergency equipment. So when the
New England Journal of Medicine last week (50) a study about in-flight medical events, I
read it with interest. :

The study estimated that there is a(n) (51) of 30 in-flight medical emergencies on U.S.
flights every day. Most of them are not serious; fainting and dizziness are the most frequent
complaints. But 13% of them—roughly four a day— are serious enough to (52) a pilot to
change course. The most common of the serious emergencies include heart trouble, strokes, and
difficult breathing. ‘

Let’s face it: plane rides are (53) . For starters, cabin pressures at high altitudes are set
at roughly what they would be if they lived at 5,000 to 8,000 feet above sea level. Most people can
tolerate the pressure pretty (54) , but passengers with heart disease (55) experience
chest pains as a result of the reduced amount of oxygen flowing through their blood. Another
common in-flight problem is deep venous thrombosis—the so-called economy syndrome.
Whatever happens, don’t panic. Things are getting better on the in-flight-emergency front. Thanks
to more recent legislation, flights with at (56) one attendant are starting to install emergency
medical kits to treat heart attacks.

A) stressful I) used to
B) called J ) published
C) average K) confronted
D) tedious L) treated
E) require M) least
F) incident N) easily
G) engage O) harshly
H) may | |
Section B

Directions: There are 2 passages in this section. Each passage is followed by some questions or

unfinished statements. For each of them there are four choices marked A), B), C) and D). You

should decide on the best choice and mark the corresponding letter on Answer Sheet 2 with a

single line through the center. '

Passage One

Questions 57 to 61 are based on the following passage.

On average, American kids aged 3 to 12 spent 29 hours a week in school, 8 hours more than

they did in 1981. They also did more household work and participated'in more of such organized

- activities as soccer and ballet. Involvement in sports, in particular, rose almost 50% from 1981 to

-6-



1997: boys now spend an average of four hours a week playing sports; girls log half that time. All
in all, however, children’s leisure time dropped from 40% of the day in 1981 to 25%.

“Children are affected by the same time crunch (f&#L) that affects their parents,” says Sandra
Hofferth, who headed the recent study of children’s timetable. A chief reason, she'says, is that more
mothers are working outside the home. (Nevertheless, children‘in both idouble-income and “make
breadwinner” households spent comparable amounts of time interacting with their parents, 19
hours and 22 hours respectively. In contrast, children spent only 9 hours with their single mothers.)

All work and no play could ‘make for some very messed-up: kids. “Play is the most powerful
way a child explores the world and learns about himself,” says T. Berry Brazelton, professor at
Harvard Medical School. Unstructured play encourages independent thinking and allows the young
to negotiate their relationships with their peers, but kids aged 3 to 12 spent only 12 hours a week
engaged in it. ; |

The Children sampled spent a quarter of their rapidly decreasing “free time” watching
television. But that, believe it or not, was one of the findings parents might regard as good news. If “& -
they’re spending less in front of the TV set, however, kids aren’t replacing it with reading:
Despite efforts to get kids more interested in books, the children spent just over an hour a week
reading. : ‘ ‘

W AR EEEE 2 L,

57. What is the main topic of this passage?
A) Children have more time participating in school activities. -
B) Children have plenty of time reading and studying.
©) Children spend little time with their parents
D) Children’s leisure time has decreased.
58. The reason given by Sandra Hofferth for the time crunchis .
A) Children have little time to play
B) Children did more household work and participated in more organized activities
C) More mothers are working outside the home
D) There are many single-parental families in United States
59. What does “the same time crunch” (Line 1, Para.2) mean?
A) Children are not taken good care of by their working parents.
B) Children have little time to play with their parents.
C) Both parents and children suffer from lack of leisure time.
D) Both parents and children have trouble managing their time.
60. According to the passage, which of the following statement is true?
A) American kids are spending more and more time watching TV.
B) American kids are engaged in'more and more structured activities.
C) American kids are doing less and less household work.
D) American kids like doing sports.
61. What can we infer from the last paragraph of the passage?
A) Most Parents believe that reading is beneficial to children.
B) Efforts to get kids interested in reading have been fruitful.
C) Playing promotes children’s intelligence. . ‘



D) Most children will turn to reading with TV sets switched off.

Passage Two
Questions 62 to 66 are based on the following passage.

The Internet began in the 1960s as a small network of academic and government computers
primarily invelved in research for the U.S military. Originally limited to researchers at a handful of
universities and government facilities, the Internet has quickly become.a worldwide network
providing users with information on a range of subjects and allowing them to purchase goods
directly from companies via computer. By 1999, 84 million U.S. citizens had access to the Internet
at home or work. More and more Americans are paying bills, shopping, ordering airline tickets and
purchasing stocks via computer over the Internet.

Internet banking is also becoming increasingly popular. With lower overhead cost in terms of
staffing and office space, Internet banks are able to offer higher interest rates on deposits and
charge lower rates on loans than traditional banks. “Brick and mortar” banks are increasingly
offering online banking services via transactional websites to complement their traditional services.
At present, 14 percent of Internet households conduct their banking by means of the Internet, and
the figure'is expected to double or triple during the next two or three years.

Increasing commercial use of the Internet has heightened security and privacy concerns. With
a credit or debit card, an Internet user can order almost anything from an Internet site and have it
delivered to their home or office. Companies doing business over the Internet need sophisticated
security measures to protect credit card, bank account, and social security numbers from
unauthorized access as they pass across the Internet. Any organization that connects its networks to
the global Internet must carefully control the access point to ensure that outsiders cannot disrupt the
organization’s internal networks or gain unauthorized access to the organization’s computer
systems and data. '

ER: WS HEHEREE 2 LEE.

62. The passage is mainly concerned about,
A) The introduction or the history of the Internet
B) The advantages of Internet banking
C) The conveniences brought to people through the Internet
D) Implications of increasing commercial use of the Internet
63. Which of the following statements about Internet banking is true?
A) 84 million U.S citizens are using Internet banking.
B) Internet banking requires minimal usage fees.
C) Internet banking offers price advantages to users.
D) Internet banking will completely replace traditional banking.
64. What does the term “brick and mortar banks” indicate?
A) Banks with traditional walk-in services
B) Banks with competitive interest rates.
C) Banks with online services.
D) Banks with good reputations.
65. What can be inferred from the last sentence of the thu'd paragraph?

-8-



A) Organizations must secure their networks and data against unauthorized use.
B) Modem téchnology cannot safeguard againist unauthorized aceess to online network
C) Information security is the most important thing for Internet Using. .
D) Any company’s network may be at risk of security breaches.
66. All of the following usages are mentioned in thls passage except
A) Purchasing stacks
B) Applying for a credit card
C) Offering online banking services
D) Ordering airline tickets

PartV Cloze (15 minutes)

Directions:  There are 20 blanks in the following passage. For each blank there are four choices
marked A), B), C) and D) on the paper below. You should choose the ONE that best fits into the
passage. Then mark the correspondmg letter on Answer Sheet 2 with a single line thmugh the

center. ' R
R WESHAEEESNEE 2 P,

“Take a look at television these days, and it's becoming almost common place to be arrogant
and crude,”__67 psychologist Thomas Achenbach of the University of Vermont.

Comparing_ 68 of American children in the mid-1970s and the late 1980s, Achenbach
found that children in the__ 69 _group were, __ 70 average, more impulsive and__71 _than their
counterparts a decade and a half earlier. The fraying of the_ 72 family and the demands_ 73
working parents, many experts believe, have produced a generation of children who can program a
computer but don't know how to write a thank-you note.

Even parents who__74 _to teach their children manners are appalled_ 75 how easily those
lessons can be__76 by__ 77 takes place beyond their homes. Leann Aykut of Scottsdale, Ariz,
knows this well. One day her 11-year-old son found his sister using his telephone in his room. “Get
off my phone,” he yelled, calling her a(n)__78 _name. :

Aykut raced to her son's room. “You’ve no right to talk to your sister like that,” she __ 79

The boy shrugged. He explained that a friend had been_ 80 _with his mother and called her
81 that term.

“We never talk that way in this house,” Aykut said__ 82

__83_ you can't protect your children from what goes on outside your home, experts believe
that with patience and__84 , parents can do__ 85 _to make their children__86__in our world full
of beasts. Parents do play an important role in changing their children’s manners.

67. A) informs B) notifies C) notes D) watches

68. A) judgments B) assessments C) assembly D) assumption
69. A) former B) latter C) previous D) following
70.A) on B)at O)in D) from

71. A) unobedient B) imobedient C) inobedient D) disobedient
72. A) neutral B) nuclear C) nucleus D) natural
73.A) for B)to C)on D) towards

74. A) strive B) strain C) struggle D) stretch



75. A) with B) for C)in o D) at

76. A) undone B) cancelled C) wasted D) invalid
77. A) that B) which C) what D) where
78. A) obscene B) obscure C) obvious D) objective
79. A) angered B) scolded C) blamed D) furied
80. A) discussing B) speaking C) talking D) arguing
81.A) by ' B)on C)in _ D) under
82. A) weakly B) firmly C) confidently D) worriedly
83. A) Because B) Where C) While D) As

84. A) persistence B) occurrence C) continuation D) existence
85.A) much - B) a few C)alot ' D) great

86. A) beautiful B) charming - C) beauties D) charms

Part VI Translation (5 minutes)
Directions: Complete the sentences on Answer Sheet 2 by translating into English the Chinese
given in brackets.

EE: B REEEEE2 b, EHEEEE 2 L%,
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